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Quiz 6.5-6.7 Review

Distance Formula:

Midpoint Formula: . , |
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Give the coordinates for point A without using any new varinbles.
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Give the coordinates for point P without using any new variables,
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Prove the midpoints KLMN of the kite EFGD form a rectangle.
Given: DE is congruent to EF and DG is congruent to GF.
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Calculate each part.

Find the unknown angles: .
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3. The perimeter of a kite is sixty-six cm. The length of one if its sides is 3 cm less than twice of another.
Draw a picture and find the length of each side of the kite.
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Find the midpoint of the midsegment
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ma1=Ul ma2= A0
m£3=4  maa=0)
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mA9=50  mg10= U

Graph the figure and decide the most precise name. Then PROVE it/
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4.

Find the length of the midsegment of each trapezoid.
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Find the measurement of the angle indicated for each trapezoid.
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